REAREOHREHTHEBREZAEH(INATEY) OHR
(HF. A)
29,000 - - ——
27,000 EERERT = HRERAR = 26384
25,000
25,401

23,000
21,000 19,606
19,000
17,000 15287 15278 16,071
15,000 14,4316“4115'002 15278 19092 14,366 [

: 1pg 13095
13,000 11,229 11,425 12,495
1000 1Oy41100,66710y928 11,306 11,805

9,000

7,000

5,000

Hi1 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29
(FE)
fiz 5

(#2])

FR29FEDIFERICERNTETRE OFHDFE (%o : /18— L)
2T -HEIIEN235 277HF (1H 2HROEFTE1,000& L. £D1,000
B¥E#19, 606HH%) £ EREZETZIT= SDIEHEAAE L TRTHE,
ANIZFEA304, 806 X (15 A F 1525, 401
AN) EHot, OHEHY

WREEHFHREEABHOHB EH EEREDSH. EBHBICHESE
5. FHROFEEIX, LI 2FES AR, BF2RAK. KBELLEDHKGZE
TiHL (A2.4%. A3.7%) L TL 175 %8B,
B
OHEHBE

OHREHTH - HREEAE (b BEEOHEHEMEANE-12R

A¥H) —HEET A O x 1,000

FAHICIH (B) THLEFEREER
[TH-HHH - EAERVBEONBAMNS OEEEK
RKEHFETHIETHEWTHRENELEEINT EEREDSE. LT, FEX - AE
WEHEHTFEH - EABDEHZEEEEIC MEL. Filr - BB, AR, FELGED
DLWTINAFEHELIZED BT E1T 5 %B.
OXERER ) OEEEME

INAFEHHREEAE -HEAD BEEDEEEMEAE 12

x 1,000 —HEET A0 x 1,000

= 4 H A R OE H H RERH
(HREERE EERBY i i %A




